This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

1 2 5 6 7
Nr. | Artikel Nr. Bendmning Antal REVISIONS
1 1CS231200 Chassiram-L 1 2 AA201011(2x) ersétter AA201010(2x), AA208078(2x) 2019-08-22 oS
tillkommit. Motorsystem utgdr frén artikel. AA202014
2 |CS233001 Saxram yttre svetsad ] och AA202015 utgdr. CS239114 ersatter CS239113.
3 |CS232100 Lyftram 1
4 |CS235000 Havarm 1
5 |CS148230 Lank C-l&st Komplett 1
6 |CS148800 Fotpedal Vanster Svetsad 1
7 |CS148801 Fotpedal Hoger svetsad ]
8 |CS238221 Sexkantstdng 1
9 |CS238227 é-kantst&ng 1
10 |CS149211 Hjul C-last 100x32 R-hjul Idng tapp 1
11 |CS149210 Hjul C-1&st 100x32 I&ng tapp 3
12 |AA201002 Andavslut 30x40x1,5-3 4
13 |AA201001 Tackpropp 18 BX DP 687 Heyco 6
14 |AA201004 Andavslut Plastfot 60x40 svart 2
15 |AA202096 Andavslut 40x30x1-3 4
16 |AA201223 Handtagsknopp Gron 2
17 |AA201222 Handtagsknopp Ro6d 2
18 |AA201219 Andavslut IKPK 32-29 svart 4
19 |AA201007 Tackpropp IKPT 16-14 svart 2
20 [CS149422 Spadrkullager 6003zz 17x35x10 4
21 |CS149410 Spadrkullager 4
22 |AA202001 Glidbussning med fléns 2
23  |AA202006 MCé6S M10x30 fzb 8
35  |AA202007 KéS M8x12 4
25 |AA201038 Distansbricka 25x13x7 svart 6
26 |AA202153 Lésbricka 8,4 4
27 |AA202341 Léssprint LCS rund 2,5 RF $52331 1
28 |CS068902 CBH bult D12 L=70 fzb 1
29 Etikett Serienummer 1
30 |AA201070 Lagerbussning 8
31 |AA202045 Stoppskruv M8xé 2
32 |AA202004 Sparring SGA 12 1
33 |CS234001 Saxram inre 1
34 |CS148011 Hylsa 2
35 |CS148042 Gavelaxel 2
36 |CS238042 Gavelaxel 2
37 |CS239114 Fastpldt elektronik Large 1
38 |AA201011 Bricka Nylon 12,8x18x3 2
39 |AA202013 BPF-F1G12 LAsstift 2
40 |CS238032 Sprint 1
41  |AA208078 Skruv MFT-TT M4x8 2
42 |P23.01 Marketikett SGnglyft Large 1

Titel / Bendmning

Vistakullevagen 18 H
& - Sanglyft Large
- www.comfortsystem.se
ComfortSystem raussss
~for trygy omvirdnad Artikel Nr Rev Blad
CS23.01L100 1(7)
1 2 5 6 7




—_~
N~
N
N
\_/ =
AN |0
g

W |

el —

(] |

m Q |~

| |

> (o)

o N
£:8 2
£ ®
& =
- ]

2 B
= <
3

2 g8 e

§ 833

g €5 m3

SxEE DD

L

B33E o5

S8Rz @8

L

et

17

)

ﬁH,QS

) £ 2

¢ _ 5
Bl |

@)
<
(40)

A\

N
o~

\' @

< oM O o (] [T
"PaNDesoId 8q |IM UOLUSADHUOD
asodind pazuoyjnoun Aup 10} pasn aq Jou Appd paiy} 0o} pappdwl g
JOU §SNW JOBIBY} SHUSIUOD By} PUD ‘UOIsSILLISd UBJIIM INO JNOYHIM paldod g jou
Apw pup BojogaIY DIADUIPUDDS WaJSAS 1OJWOD Jo Apadoid ayj S| jJuawnoop syl



ﬁ%l Nr.

Bendmning

Chassi/QTY.

CS231200

Chassiram-L

—

CS148230

L&nk C-last Komplett

CS148800

Fotpedal Vanster Svetsad

CS148801

Fotpedal Hoger svetsad

CS238221

Sexkantstdng

CS238227

6-kantsténg

CS149211

Hjul C-I&st 100x32 R-hjul I&dng tapp

CS149210

Hjul C-l&st 100x32 Idng tapp

AA201004

Andavslut Plastfot 60x40 svart

AA201223

Handtagsknopp Grén

— [ = ‘Z
ao\om\no\mpwr\)\\_‘

AA201222

Handtagsknopp R&d

12

AA201219

Andavslut IKPK 32-29 svart

13

AA201007

Tackpropp IKPT 16-14 svart

14

AA202007

KéS M8x12

15

AA201038

Distansbricka 25x13x7 svart

-

16

AA202153

LAsbricka 8,4

17

AA202045

Stoppskruv M8xé

18

P23.01

Mdarketikett Sanglyft Large

This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not
be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

19

Etikett Serienummer

= = IDNPRIORAERIDNDPBEIDNDIDNDDNWO A -

Agare

2 =
—]

Comfoﬁéystem

- for trygg omvirdnac

Vistakullevagen 18
Box 4034

561 04 Huskvarna
www.comfortsystem.se

Tel 036-515 90
Fax 036-500 01

Titel / Bendmning

Sanglyft Large

Artikel Nr

CS23.01L100

Blad

3(7)

3 4

7




This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

@

Nr. Artikel Nr. Bendmning Inre Sax/QTY.

AA201002 Andavslut 30x40x1,5-3 2

AA201070 Lagerbussning

4
CS149410 Spdrkullager 2
CS234001 Saxram inre 1

Bl WIN|—

Titel / Bendmning

Vistakullevagen 18 H
o™ Box 4034 Sa ng IYﬂ: La rge
— 561 04 Huskvarna
www.comfortsystem.se

Com fortSystem Tel 036-515 90

- for trygg omvirdnad Fax 036-500 01
ARy Artikel Nr Rev Blad

1 2 3 4 5 6 7 8

CS23.01L100 2 |4



This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

Artikel Nr. Bendmning Yitre Sax/QTY.

CS233001 Saxram yttre svetsad 1

AA201002 Andavslut 30x40x1,5-3

Al WIN| —

2
AA201070 Lagerbussning 2
CS149410 Spdrkullager 2

Titel / Bendmning

Vistakullevagen 18 -
= Boc 4035 " Sanglyft Large
—, 561 04 Huskvarna
www.comfortsystem.se

g
‘ | 036-! 90
ComfortSystem regesiss ,
Jr trygg omvdrdoa Artikel Nr Rev Blad

CS23.01L100 2 | 5(7)

2 3 4 5 6 7 8




Artikel Nr.

Bendmning

Lyftram/QTY.

CS232100

Lyftram

1

AA202096

Andavslut 40x30x1-3

CS239114

Fastplat elektronik Large

AA202013

BPF-F1G12 Lasstift

g WN| —

AA208078

Skruv MFT-TT M4x8

NN —~|P>

-

This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

Vistakullevagen 18

Box 4034

561 04 Huskvarna
www.comfortsystem.se

Com fortSystem Tel 036-515 90
- for trygg omvdrdnad

Fax 036-500 01

Titel / Bendmning

Sanglyft Large

Artikel Nr

CS23.01L100

Rev Blad

7

2 6 (7)



This document is the property of Comfort System Scandinavia Aktiebolag and may
not be copied without our written permission, and the contents thereof must not

be imparted toa third party nor be used for any unauthorized purpose.

Contravention will be prosecuted.

Nr. Artikel Nr. Bendmning Havarm/QTY.
AA201070 Lagerbussning 2

CS149422

Spdrkullager 6003zz 17x35x10

AA202001

Glidbussning med flans

CS235000

Havarm

OB WIN—

CS148011

Hylsa

NI~ DN B>

2 =
—]

Comfoﬁéystem

- for trygg omvirdnac

Vistakullevagen 18
Box 4034

561 04 Huskvarna
www.comfortsystem.se

Tel 036-515 90
Fax 036-500 01

Titel / Bendmning

Sanglyft Large

Artikel Nr

CS23.01L100

Blad

7(7)

7




	BOM
	Drawing View1

	EXP
	Drawing View2

	Chassi
	Drawing View9

	Inre Sax
	Drawing View5

	Yttre Sax
	Drawing View6

	Lyftram
	Drawing View7

	Hävarm
	Drawing View8


